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1 8:00- 8:45 1H2,1H1 |r_ang |[s2 1H2,1H1 |r_ang |s4 1H2,1H1 |r_ang [s9 |[sNC|8A j.ang |14 2Alj.ang |3 7B j.nie |12 1S-2 |jwlo |s1 |sPR
R 28-2 r_ang |s13 |sPd |2S-1 r_ang |s6 P1S 1H2-1 _|j.nie [s10 [sP1 1H2-2 |j.wlo |s4
® | 3 9:50-10:35 3HS-2 r_ang |[s5 2S-2 r_ang [s13 [sPd ]|2S-1 r_ang [s6 4A jang |5 |P1T|3Alj.ang |4 4HS-1 |j.nie [s8 4HS-2 |jwlo [s3
§ 4 10:45-11:30 3HS-2 r_ang [s5 3HS-1 j.ang [s8 6A,6B j.ang |7 P1S |6A,6B |j.ang |11 1B |j.ang |2 5A j.nie |9 1H1-2 |j.wio |s9 [sNC
IR 45-12:30 7B,7A j.ang |8 P1S|7B,7A j.ang |12 7B,7A |j.ang |14 1Alj.ang |1 |SZ |1S-1 |j.nie |s1 2S-1 j.nie |s6 2S-2 j.wlo |s2 [sP1
B |6 12:50-13:35 8A wos 14 5A-1 j.ang |9 SZ |5B-1 jang [10 |P1 |5B-2 |j.ang |8 |P1T 1H1-1 |j.nie [s9 2H-1 j.nie |s7 |sPd]2H-2 |j.wlo [s2
7 13:45-14:30 3HS-1 |j.nie |s8 [sP1]3HS-2 |jwlo |s5 [sPR
8 14:35-15:20
sP1
1 8:00- 8:45 J1H1 |wych. [s9 2H-2 r_ang [s13 |sPd |4HS-1 r_ang |s3 2H-1 r_ang |[s7 1H2-1 |j.nie |s4
2 8:55- 9:40 2H-2 r_ang [s13 |sPd |4HS-1 r_ang |s3 2H-1 r_ang |[s7 8A j.ang |14 7A j.nie [8
X |3 9:50-10:35 1S-2 r_ang |[s2 1H1 e dla [s9 |sNC]1S-1 r_ang |[s1 6A $ciezka PR
_‘6_ 4 10:45-11:30 1S-2 r_ang |[s2 3HS-1 j.ang [s6 1S-1 r_ang |[s1 4B j.ang |6 2B |j.ang |2
S [ 5 11:e5-12:30 1H2,1H1 |r_ang |s8 |[sPd |1H2,1H1 |r_ang [s4 |[sP1 |1H2,1H1 |r_ang |[s9 P1T |3B |j.ang |1 |SZ
6 12:50-13:35 1H2,1H1 [r_ang |s8 1H2,1H1 |r_ang |s4 1H2,1H1 |r_ang |s9 |sP1|5A-2 |jang |9 |[SZ
7 13:45-14:30 3HS godz. [s5 1S e dla [s1 [sPR
8 14:35-15:20
sP1 sSB sPR
1 8:00- 8:45 |18 |wych. [s1 2S-2 r_ang |s2 2S-1 r_ang |[s6 4A j.ang |5 B6A j.nie |7 P1 |3HS-1 |j.nie |s8 |sP1]|3HS-2 |j.wio [s5
2 8:55- 9:40 4HS-1 r_ang [s3 4HS-2 j.ang |s8 |sPd |4B j.ang |6 8A j-nie |14 2H-1__|j.nie [s7 |sP1
@ | 3 9:50-10:35 4HS godz. |[s3 8A j.ang |14 [P1 1H1-1 |j.nie |s8 2S-1 |j.nie |s6 1H1-2 |j.wio |s9
'§ 4 10:45-11:30 P2 6A,6B  |j.ang [7 6A,6B |j.ang |13 1S-1__ |j.nie |s1 18-2  |j.wlo [s13 |sPd
B s 11:45-12:30 7B,7A j.ang |8 7B,7A j.ang |12 5B-1 j.ang |10 |P1S|7B,7A |j.ang |11 sPd 1H2-2 |j.wio |s4
6 12:50-13:35 3HS-2 r_ang |s5 8A e dla |11 [SZ 5B-2 |j.ang |10 4HS-1 _|j.nie |s3 4HS-2 |j.wio |s8
7 13:45-14:30 3HS-2 r_ang [s5 |[sPR 7B j.nie |12 |SZ 2S-2 |j.wilo [s6 |sP1
8 14:35-15:20 8A WOS 14 2H-2 jwlo |s7
sPR
1 8:00- 8:45 |1H2|wych. [s§]| |3HS-2 r_ang |s4 28-2 r_ang [s6 [sNC|2S-1 r_ang |s13 [sPd |4A jang [5 |P1T|1B|[j.ang |2
2 8:55- 9:40 3HS-2 r_ang |[s4 2S-2 r_ang |s6 2S-1 r_ang [s13 4B j.ang |6
§ 3 9:50-10:35 1H2,1H1 |r_ang |s2 1H2,1H1 |r_ang |s9 1H2,1H1 |r_ang |s4 P1T |1A]j.ang |1
4| 4 20805-11630 1S-2 r_ang [s2 |sPR|5A-1 j.ang |5 P1T |1S-1 r_ang |[s1 5A-2 |j.ang |9 2A |j.ang |1
S| 5 11:45-12:30 2H-2 r_ang |[s7 2H-1 r_ang [s13 |sPd |8A j.ang |14 |PRs]3Alj.ang |2 5B j.nie |10 [P2
6 12:50-13:35 2H-2 r_ang [s7 [sP1 |1H2 e dla |[s4 2H-1 r_ang [s13 3B |j.ang |4 7A j.nie
7 13:45-14:30 4HS-1 r_ang [s3 |sPR|4HS-2 j.ang [s8 |sP1 2B [j.ang [3 |SZ
8 14:35-15:20
1 8:00- 8:45 7B,7A j.ang |14 7B,7A j.ang |12 4HS-2 j.ang |s3 7B,7A |j.ang (13 6B j-nie |11 |P1
2 8:55- 9:40 Msza Swigta Msza Swigta 4B godz. |6 8A j.nie |14 [SzZ
x| 3 5 2H-2 r_ang |[s2 4HS-1 r_ang [s3 2H-1 r_ang [s7 |sPd |Msza Swieta
_f’;— 4 1S-2 r_ang [s6 5A-1 j.ang |5 P1T |1S-1 r_ang |[s1 5A-2 |j.ang |9
e : 5B-1 j.ang |10 5B-2 |[j.ang |5 |P1T
6 12:50-13:35 3HS-2 r_ang [s5 [sPR]3HS-1 j.ang [s2 [sP1]6A,6B j.ang |7 SZ |6A,6B |j.ang |11 |P1
7 13:45-14:30
8 14:35-15:20
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P1
4HS-1 |r_j.p |s8 [sPd 5A |j.pol |9 7A |j.pol |8 2H |relig [s7 6B |relig |11 sP1
4HS-1 |r_j.p |s8 3HS-2 |j.pol [s2 6B |j.pol |11 5B |j.pol [10 1S |[relig [s1 [sPR|4B [relig [6 5A |histo 9 1H1 r_geo [s9
1S j.pol |s1 |sP1 5A|godz. |9 |P1S SZ |1H2 |relig |s4 |sPR|5B |relig [10 1H1 |histo [s9 6B |histo 11 3HS-1 r_geo [s2
1S j.pol |[s1 2H rj.p [s7 4A |j.pol [5 4B |j.pol |6 8A |relig |14 1H2 |histo [s4 [sPR 5B |histo 10 sPd
3HS-1 |r_j.p [s8 2H r_j.p |s7 |sPd |4A|j.pol |5 [PRs|4B|j.pol|6 |P1T 1H2 |hist. [s4 1H1 godz. |[s9
3HS-1 |r_jp [s8 |sPR|1H2 rj.p |s4 6A |j.pol |7 2S |histo [s6|sNC Swietlica 1S-2 r_geo [s1
1H1 r_j.p [s9 |sSB|7B|j.pol |12|SZ |8A |j.pol |14 |P1 Swietlica 2H,2S r_geo |s6
1H1 rj.p |s9 [sPR 8A |j.pol |14 $wietlica
sSB sPR
3HS-1 |r_j.p [s8 5A |j.pol |9 8A |j.pol [14 |P1T |2S |[relig |s6 |sP1 1A|relig|1 |PR |1S |histo |s1 7A |histo |8
3HS-1 |r_j.p [s8 1H2 rj.p |s4 |sPR P1 4B |j.pol |6 1H1 |relig |s9 1B |relig |2 2S |hist. [s6|sP1 |7B [histo |12 1S-1 geogr |s1
28 j.pol |s6 1H2 r_j.p |s4 |sP1 |4A|j.pol |5 5B |j.pol [10 7A |relig [8 2B |relig |3 |PRs 4B |histo |6 4HS-1 r_geo [s3
P2 J7Alj.pol [8 7B [relig [12 2A |relig |3 4HS [histo |s3 8A |histo |14 3HS-2 geogr (s8 sP1
4HS-2 |j.pol |s2 |sPR 7B |j.pol |12 3HS |histo |s5 6A |histo [7 |P2 2H,2S r_geo [s6 sNC
1S j.pol [s1 7B |j.pol |12 3HS |relig |s5 |sPR 2H |histo [s7 4A |histo |5 |P1T |$wietlica
4HS [relig [s3 2H [godz. |s7 [sP1 Swietlica
1S |[relig [s1 [sPR Swietlica
P1
4HS-2 |j.pol |s13 6B |j.pol |11 5B |j.pol [10 3B |relig [4 2H |histo |s7
3HS-1 [r_j.p |s5 3HS-2 |[j.pol [s2 6B [j.pol |11 P1S 1H2 |histo |s4 [sPR Pedagog specjalny
1S j.pol |s1 |sP1 |3HS-2 |j.pol |s2 6A |j.pol |7 4B |j.pol |6 [P1T 2H |hist. |s7|sNC Laboratoria przysztosc
4HS-1 |r_j.p |s8 |sP1 |1H1 rj.p [s9 4A |j.pol [5 8A |j.pol [14 4B |relig |6 |P1S 2S |histo [s6 5B |histo 10 [PRs sPR
4HS-1 |r_j.p |s8 1H1 rjp [s9 P1T |8A |j.pol |14 4A|relig |5 [SZ 1S |histo |s1 5A |histo 9 2H,2S geogr |s6 sPR
28 j.pol |s6 [sPd J2H r j.p |s7 |sSB|7B|j.pol [12 7A|j.pol |8 [P1T 5A [relig [9 [P1 1S |hist. |s1[sPR Swietlica 3HS-1 r_geo [s2
2H rj.p |s7 7A |j.pol |8 8A |relig |14 1H2 |hist. [s4 Swietlica 3HS-1 r_geo |s2
28 j.pol |s6 Swietlica
sP1 P1
5A|j.pol |9 |P1S 5B |relig |10 4HS |histo [s3 6A |histo |7 3HS-1 r_geo [s2 sPR
4HS-2 |j.pol |s8 |sSB sPd [5A |j.pol |9 6B |relig [11 1H1 |hist. [s9 [sP1 |7A |histo [8 |P1 3HS-1 r_geo [s2
4HS-2 |j.pol |s8 2H rjp |[s7 6B |j.pol |11|P1 6A |relig [7 7B |histo [12
1H2 rj.p [s4 6A |j.pol |7 3A |relig [2 8A |histo [14 P2 4HS-1 r_geo |s8 sNC
3HS-1 |r_j.p |s6 1H1 rj.p [s9 7B |j.pol |12 1H2 |relig |s4 6B |histo 11 4HS-1 r_geo |[s8
3HS-1 |r_j.p [s6 1H1 r j.p |s9 [sNC|4A|j.pol [5 4HS [relig [s3 [sPd Swietlica
3HS |relig [s5 Swietlica
7A |relig|8 |SZ Swietlica
sSB SZ |
4HS-1 [r_j.p |s2 3HS-2 |j.pol |s8 6A |j.pol |7 |P1T 5B [j.pol |10 4A |relig |5 2A |relig |3 Swietlica 1H2 geogr |s4
sSB |Msza Swigta 6A |j.pol |7 5B |j.pol |10 |P1T Msza Swigta sP1 $wietlica schola
28 j.pol |s6 |sNC]1H2 r j.p |s4 |sPR |Msza Swieta P1 3HS |histo [s8
4HS-2 |j.pol |s8 1H2 rj.p [s4 6B |j.pol |11 7B |relig [12 6A |relig [7 |PRs]1B |relig [2 |PR |1H1 [histo |s9 |sP1 2H,2S r_geo [s2
4HS-1 [r_j.p |s8 [sNC|2H r j.p |s7 |sPd |5A|j.pol |9 [P2 |8Al|j.pol[14|SZ |2S |[relig|s5 3A|relig |2 |P1S|1A|relig |1 1H1 |hist. [s9 1S-2 r_geo |s1
4HS-1 |r_j.p |s8 4B |j.pol [6 |P1T |1H1 |relig |s9 |sSB |5A |relig |9 1S |hist. |s1 2H,2S geogr |s6
7A |j.pol |8 2H |relig [s7 |sSB |3B |relig |4 [SZ |2B |relig |3 1H1 r_geo |[s9 sP1
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sP1 SZ
5B |[geogr |10 [P1 |3HS biolo |s5 1S-1 |infor |s10 4HS-2 |[r_mat |s3 4A |matem |5 4B |matem |6 [P1S
6A |godz. |7 |[P1 2H fizyk |s7 4HS-2 [r_mat |s3 3HS-1 |matem |s5 4A [godz. |5 [P1T |7A |matem (8
4B |przyr |6 7A biolo |8 P1 2H matem [s7 [sNC|6A [matem |7 6A_§ciezka
7A |geogr |8 P2 1H1-1 |infor |s10 |sP1 |2S r_mat [s6 P1T |7B |matem |12 4HS-2 wf |@
5A |[geogr |9 6A biolo |7 Swietlica 1S-2 |infor |s10 3HS-2 |r_mat |s5 [sPR|6B infor 13 5B |matem |10 8A [matem |11|P2 |4HS-2 wf @
7B |geogr |12 1S-1 |r_bio [s3 Swietlica 1H1-2 |infor [s10 3HS-2 |r_mat |s5 5A-2 |infor 13 6B |matem |11 7A-C wf  |s12 |sP1
2H,2S |r_bio |s7 $wietlica 1H2 matem |s4 6A-2 infor 13 7A-C wf s12
$wietlica 7A-2 [infor |13 [SZ 2H-2,25-2 wf |s11 |sSB
[ I
4A |przyr |5 7B biolo |12 4HS-2 |r_che |s5 Swietlica 1H2-2 |infor |s10 3HS-2 |r_mat |s2 5B |matem |10 |P1
Pedagog KLO 1S-2 |biolo [s10 4HS-2 |r_che |s5 Swietlica 3HS-2 |r_mat |s2 5A |matem |9 |P1S
[ [ 4HS-2 |r_bio |s8 2H chemi [s5 |sPR|7B |[chemi [12 3HS-2 |infor |s10 sPd 6A |matem (7
Pedagog KLO 1H1 biolo |s9 [sPd|2S chemi [s5 6B |biolo [11|P1S 1H2 matem [s4 |sPR|2H matem [s7 |sNC|6A_sciezka 5A-C wf Q@
Pedagog KLO 2H,2S |r_bio |s7 8A |chemi (8 1S r_mat [s1 4HS-1 |matem |s3 4A [matem |5 [P1S |7A |matem |9 5A-C wf @
Pedagog KLO 7A |[chemi |8 2S r_mat |[s6 5A-1 |infor 13 6B |[matem |11 8A |matem |14 |P1 |4HS-2 wf s12 |sNC
Pedagog KLO 2S r_mat [s6 |sSB |8A infor 14 |SZ 7B [matem |12 |P1 |1H1-C,1H2-C |wf s11
[ [ 7A-1  [infor [13 [sZ 1H1-C,1H2-C |wf [s11
PR SZ
4B |przyr |6 7B fizyk |12 sPd |4HS-1 |matem |s3 [sPR|5A |matem |9 8A |matem |14 1H1-C,1H2-C |wf |s12 [sNC
7B |geogr [12|P1 |5A biolo |9 2H-2 |infor |s10 1S r_mat [s1 1H1 matem [s9 4A [matem |5 7A [matem |8 |P1T |2S godz. |s6
4A |przyr |5 7B biolo |12 2S-2 |infor [s10 1H2 matem |[s4 3HS-1 |matem |s5 |sPR|6B |matem [11|SZ |7A|godz. (8 sPd
Pedagog KLO 1H2 r_bio |s4 7A fizyk |8 4HS-2 |[r_mat |s3 [sNC|2H matem |s7 7B [matem |12 3HS-2 wf Q@
Pedagog KLO 2H,2S |biolo |s7 |sP1 1H2-1 |infor |s10 |sNC|4HS-2 |r_mat [s3 5B-2 |infor 13 |P2 4B |matem |6 3HS-2 wf @
[ [ 1H2 godz. [s4 |sP1 $wietlica 1H1 fizyk [s9 5B-1 |infor |13 4A [infor |14
Pedagog KLO Swietlica 2S-1 |infor [s10
[ [ $wietlica 2H-1 _ |infor |s10 |sSB
Sz
6B [geogr |11 8A biolo |14 sP1 7B godz. [12 [P1 |1S r_mat [s1 1H1 matem [s9 4B |infor 13
6A |geogr |7 5B biolo |10 1H2 chemi [s5 8A fizyk |14 1S r_mat [s1 4HS-1 |matem |s3 |sPR]4A|matem |5 |P1T Sz
Pedagog KLO TA biolo |8 1S chemi [s5 [sPR 3HS-1 |infor |s10 [sP1 |2S r_mat [s6 |sPd |4HS-1 |matem |s3 5A [matem |9 8A [matem |14 3HS-2 wf @
Pedagog KLO 4HS-2 |r_bio [s10 [sPd]1H1 chemi [s5 7B [chemi |8 3HS fizyk |s3 2S r_mat |s6 2H matem |[s7 [sP1 |5B [matem |10
4HS-2 |r_bio |s10 2S chemi [s5 7A |chemi 8 sPR|3HS-2 |r_mat |s2 6A |[matem |7 |P1S |4B [matem |6 |SZ |5A-C wf |s12 [sNC
8A |geogr |14 |P1T Swietlica 1S fizyk |s1 |sPR|3HS-2 [r_mat |s2 6A-1 [infor 13 [SZ 7B |matem [12|P1 |5A-C wf  |s12
7A |[geogr |8 |[P1 Swietlica 1H2 fizyk |s4 1S godz. |s1 7B infor 13 8A [matem |14 2H-2,2S-2 wf |s11
$wietlica 2H-2,25-2 wf |s11 |sSB
sPR P1 sP1
2H chemi [s5 [sPR 8A fizyk 2S r_mat [s6 3HS-1 |matem |s7 5A [matem |9 |P1S |4B [matem |6
Msza Swigta sPd Swietlica 7B fizyk |12 Msza Swigta sPR |1HI Msza Sw 6B |matem (11 7A |matem (8 Msza Sw sNC
Msza Swigta 4HS-2 |r_che |s5 P1S |Msza Sw P1T |1S r_mat [s1 [sP1 J1H1 matem [s9 Msza Swigta Msza Swigta
2H,2S |r_bio |s7 |sPd|3HS chemi [s5 8A [chemi |14 |P2 sPR 4HS-1 |matem |[s3 7A-C wf s11 [sNC
1H2 |muzyk |s6 1S-1 |r_bio [s2 [sP1 6B |godz. |11 3HS fizyk |s4 4HS-2 |r_mat |s3 [sPR 6A [matem |7 7A-C wf |s11
2H,2S |biolo |s7 Swietlica 7A fizyk |8 4HS-2 |r_mat |s3 5B [matem |10
1S |muzyk |s6 1H2 r_bio |s4 Swietlica 28 fizyk |s5 |sPR
1H1 |muzyk |s6 |sSB Swietlica
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sSB
6A wych. [7 P1T |2S-1 wf s11 3Ale_wcz |4 |PR 1A |infor |13
8A,7B |wf s11 8A,7B |wf |s12 [sNC 3A|e_wcz |4 2A |e_wcz|3 |[PR 1A le_wcz |1
8A,7B |wf s11 8A,7B |wf s12 PR 2A |e_wcz |3 1A le_wcz |1
4HS-1 (wf |@ 3B |e_wcz |4 3A |wf s11 2A  |wf s12 2B|e_wcz |3 |PRs 1A le_wcz |1 PR
4HS-1 |wf @ sNC 3B |e_wcz |4 3A |wf s11 2A  |wf s12 2Ble_wcz [3 |PR
7A-D wf s11 3B|e_wcz |4 |PR |4B |techn |6 2B [e_wcz |3
7A-D wf |s11 3B |e_wcz |4 2B |e_wcz [3
2H-1 wf  |s12
P1 PR
6B,6A |wf s11 |sNC|6B,6A |wf |[s12 |sPR 4B |muzyk [6 3B |e_wcz |4 P1S 2B |e_wcz |3
6B,6A |wf s11 6B,6A |wf |s12 sNC |5B [muzyk [10 |P1T 3B|le wcz [4 |PR |4A|techn |5 2B |e_wcz |3 1Ale_wcz (1 |SZ
P1T |8A godz. [14 [P1 |3HS-1 wf |s11 5A |muzyk [9 |P1S 3B |e_wcz |4 3A |wf @ 2A |infor |13 1A le_wcz |1
5B-C |wf Q@ 5A-D |wf |@ 5B-D wf |@ 4A |[muzyk |5 3B [infor |13 3Ale wcz |4 |PR PRs 1A |wf s11
5B-C |wf @ 5A-D |wf @ 5B-D wf |@ 6B |muzyk [11|PRs 3A|e_wcz |4 2A |e_wcz|3 |[PR 1A |wf s11
4HS-1 (wf |s11 sPd |6A [muzyk |7 3Ale wcz |4 |PR 2A |[e_wcz |3
1H2-D wif s12 7A |muzyk |8 2A |e_wcz |3
1H2-D wf |s12 7B [muzyk |12
7A wych. [8 P1S 1H2-D wif s11 P1T 2Ble_wcz |3 |PR 1A le_wcz |1
5B-C |wf s12 |sNC 5B-D wf |s11 3B|le_ wcz |4 |PR |6A |techn |7 2B |e_wcz |3 1A le_wcz |1
5B-C |wf s12 5B-D wf |s11 3B |e_wcz |4 5A |techn [9 |P1S PR 2B |e_wcz |3 1A le_wcz |1
5A wych. |9 P1T |3HS-1 wf @ 3B |wf s12 3A|e_wcz |4 2A |[e_wcz |3 2B |wf s11 1A le_wcz |1 PR
6B,6A |wf (@] 6B,6A |wf |@ 3HS-1 wf |@ 3B |wf s12 3Ale_wcz [4 2A le_wcz |3 |PR 2B |wf s11
6B,6A |wf @ 6B,6A |wf Q@ sNC 3Ale wcz |4 |PR 2A |[e_wcz |3
1S-C |wf s12 1H1-D,1S-D |wf |s11 |sSB 3A|e_wcz |4 2A |e_wcz |3
1S-C |wf [s12 |sPR]1H1-D,1S-D |wf [s11
sSB | | PR
2H-1 wif s11 Swietlica 3Ale_wcz |4 |PR 2A |e_wcz |3 1Ale_wcz |1
P1S 2H-1 wf s11 [sNC Swietlica 3Ale_wcz |4 2A |e_wcz |3 1A le_wcz |1
4A wf s12 |sNC|4B wf s11 5B godz. [10 3B |wf @ 3A|e_wcz |4 2A |e_wcz|3 |[PR 2B [infor |13 PRs
4A wf s12 4B wf s11 3B|le wcz [4 |PRs|6B |techn [11 |P1S 2B |e_wcz |3 1A |wf Q@
5A-D |wf |[s11 [sP1 1S |bizn. |[s1 3Ble_wcz |4 |PR P1T 2B |e_wcz [3
5A-D |wf |[s11 2S |przed |[s5|sSB 5B |techn [10 2Ble wcz |3 |PR
251 [wf |[s12 |sSB 1H1 [bizn. |s9
2S-1 wf s12 3HS [przed |s5 [sPR
PR
1S-C |wf s12 |sSB |1H1-D,1S-D |wf |s11 3Ale_wcz |4 |PR 1A le_wcz |1
4A wych. [5 3Ale_wcz |4 2A |e_wcz |3 1A le_wcz |1
Msza Swigta Msza Swigta Formacja PR |Formacja schola Formacja Sz Formacja PRs
4A wf Q@ 4B wf Q@ 7A-D wf |s12 P1S 3B |e_wcz |4 3A [infor |13 2A |e_wcz |3 2B [wf Q@ 1A |e_wcz |1
4A wf Q@ 4B wf @ 7A-D wf [s12 7B |d_zaw [12 3B |e_wcz [4 2A |wf 8 |PRs 2Ble_wcz |3 |PR
8A,7B |wf s12 [sNC|8A,7B |wf s11 |sPd 1H2 |bizn. |s4 3Ble wcz |4 |PR 2B |e_wcz |3
8A,7B |wf s12 [P1 |8A,7B |wf |s11 4HS [d_zaw |s3
8A wych. [14 [SZ 2H |przed |s7 |sPR
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1B |e_wcz |2 Swietlica Pedagog Bibliotek| |Bibliotek|
1B |e_wcz |2 Swietlica Pedagog| |Pedagog Bibliotek] |Bibliotek| swietlical
1B |e_wcz |2 |PRs |$wietlica Pedagog| |Pedagog Bibliotek| |Bibliotek| 3B Swietlical
6A_§ciezka Pedagog| |Pedagog Bibliotek| |Bibliotek| Pedagog specjal |$wietlica| |$wietlical
Pedagog| |Pedagog Bibliotek| |Bibliotek| |Bibliotek] 1B Swietlica|  |$wietlical
Pedagog| |Pedagog Bibliotek| |Bibliotek| |$wietlica 3A Swietlica| |$wietlical
Pedagog| |Pedagog Bibliotek| Swietlica 5A,, 5B Swietlica|  |$wietlical
[ 1 Pedagog Bibliotek] $wietlica [T $wietlica| |$wietlical
Sz | | [ [ |
1B |e_wcz |2 Pedagog Bibliotek Pedagog specja
Pedagog| |Pedagog Bibliotek] 2A swietlical
1B |e_wcz |2 6B |plast|11 Pedagog| |Pedagog Bibliotek|] |Bibliotek] Pedagog specja | |
1B |wf s12 6A [plast|7 |P1T |Pedagog| [Pedagog Bibliotek| |Bibliotek| |Bibliotek] Pedagog specjal  |$wietlical |swietlical
1B |wf s12 4B |plast |6 Pedagog| |Pedagog Bibliotek| |Bibliotek| |$wietlica Pedagog specjal [$wietlica| |$wietlical
Swietlica Pedagog| |Pedagog Bibliotek| |Bibliotek| |$wietlica 4B Swietlica| |$wietlical
Swietlica Pedagog Bibliotek| |Bibliotek] [$wietlica Swietlical  |$wietlical
Swietlica Pedagog [ ] Bibliotek] |$wietlica $wietlica| |$wietlical
[ | | | [ |
1B |e_wcz |2 Swietlica Pedagog Bibliotek| |Bibliotek|
1B |e_wcz |2 Swietlica Pedagog Bibliotek] |Bibliotek| swietlical
1B|e_wcz |2 |PRs |$wietlica Pedagog| |Pedagog Bibliotek| |Bibliotek| Swietlical
1B |e_wcz |2 Pedagog| |Pedagog Bibliotek] |Bibliotek| swietlica| |$wietlical
1Ble_wcz |2 |PRs Pedagog| |Pedagog Bibliotek| |Bibliotek| |$wietlica 1A Swietlica|  |$wietlical
Pedagog| |Pedagog Bibliotek| |Bibliotek| |$wietlica 4A Swietlica| |$wietlical
Pedagog| |Pedagog Bibliotek| Swietlica 6A Swietlical  |$wietlical
Pedagog| |Pedagog Bibliotek] Swietlica 7B, 8A Swietlica| |$wietlical
| | [ |
Pedagog Bibliotek| |Bibliotek|
1Ble_wcz |2 |PR |7B|plast{12 Pedagog| [Pedagog Bibliotek| |Bibliotek| Pedagog specja $wietlical
1B |e_wcz |2 P1S |Pedagog| |Pedagog Bibliotek| |Bibliotek| Pedagog specja | |
1B |wf Q@ 7A |plast[6 |PR |Pedagog| [Pedagog Bibliotek] |Bibliotek| Pedagog specjal  |$wietlical |swietlical
1B |infor |13 4A |plast|5 Pedagog| |Pedagog Bibliotek| |Bibliotek| |$wietlica Pedagog specjal [$wietlica| |$wietlical
Pedagog| |Pedagog Bibliotek| |Bibliotek| |$wietlica 5B, 6B swietlica| |$wietlical
Pedagog Bibliotek| Swietlica Swietlica|  |$wietlical
Pedagog [ ] $wietlica $wietlica| |$wietlical
| | | [ [ |
1B |e_wcz |2 Pedagog Bibliotek| |Bibliotek] Pedagog specja
1Ble_wcz [2 |PR |5A|plast|9 Pedagog| |Pedagog Bibliotek| |Bibliotek] 2B
Formacja Pedagog| [|2A formac Bibliotek| |Bibliotek]
5B |plast|10 Pedagog| |Pedagog Bibliotek] |Bibliotek Swietlica| |$wietlical
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